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o> s BRI REGHEE TR

. A 100 # |1014# | 1024 |1034# |1044# |1054# |106 & | 107 & | 108 & o3 # 11 % (%)
kA g | 32 - 1 - 1 1 1 2 1 39 0.09
k% %8 3 2 - 1 - - - - - 6 0.06
FEN 2 - - - - - - - 3 5 0.09
2 EL I - 2 - - - - - - - 2 0.04
wuasn 1 - - - - - - - - 1 0.01
w1 s | 17 8 - - - - 1 1 - 27 0.05
13 10 | 63 | 51 | 12 8 2 - 2 - 148 1.20
Hu B - - - - - - - 44 33 77 8.05
R 65 | 75 | 52 | 13 | 9 | 3 | 2 | 49 35 305 0.20




2Z B> EmIEEIRHSETHE
#-131 44-134 44 -137 4% -134+4%-137
BB, | #Hkp4 5y o B ) . . , A b T
£ B - Al (Bse/am) [ (Bse/aT)] (B sel=mT) (B sc/=T) "~

228 | 108.12. 26 £ FCEF - 1.3 28 29.3 # b (e R SR CH -4
227 | 108.12.03 B A A FCEF - 1.2 20.5 21.7 # b -1 1 4
226 | 108.12.03 2 KA & - 0.7 8.4 9.1 AL RT:] © e
225 | 108.10. 30 ich i FCEF - 0.5 13.6 14.1 £+ i 4 CLARE)
224 | 107.9.21 2 3 KA & - - 5.1 5.1 A isag - 1 4
223 | 107.8.27 Gk Sk vl d 5 - - 31.23 31. 23 oL 3 © F IR
222 | 107.05.17 2&F 31 2.98 2.98 b1 © 1838
221 | 107.5.11 HE 3 6. 47 6. 47 # B © 13iF
220 107.1.5 1 b R LR - - 8. 41 8. 41 A © e
219 | 106.12.15 £ LN PREAp LT - - 12. 46 12. 46 7 & © 4




#-131 44-134 44 -137 4% -134+4%-137
BEl| Etpd o A EE e ) i i ) A B #2r
& BB o T Al (Bse/am) [ (Bse/aT)] (B sel=mT) (B sc/=T) %
218 | 106.11.8 | KAMEYA 1% 4 &t el &% - - 10.7 10.7 P ¢ e
(Fn) (e ikl
& 1)
217 | 105.12. 14 HER X3 - - 1.7 1.7 P © 9
216 | 105.10.11 A2 PREAD LT - 1.9 8.6 10.5 A isag © 4
O A
215 | 105.09. 21 c3 3 X3 - - 3.51 3.51 # P © 9
214 | 104.10. 20 & K X3 - - 1.9 1.9 # B
213 | 104.09.24 E 3 - - 3.8 3.8 # B
212 | 104.09.15 & & 3 - - 1.7 1.7 # B
211 | 104.06.16 | #F A RfcE i i 27 6.8 05 Ty
210 104.06.16 2R X3 - 3.7 15.1 18.8 B
209 104.05.13 2 F?}; *® j’hfk\ﬁ - - 2.48 2.48 5 B
208 | 104.04.24 Ak B 2 O A A - - 0.34 0.34 ¥




s | wmen o e A8l | £-134 8137 | #-18408-137 4 N
(Bsel=T) | (Bse/2T) | (B sa/aT) (B se/=7)
207 | 104.01.29 wEF ] ] 12 3 42 ey
206 | 104.01.22 *F KA - 6.8 17.8 24.7 # I
205 | 103.12.11 *F Fi - 14.1 445 58.6 # W
204 | 103.10.23 BE Fu - 12.6 42.1 54.7 # W
203 | 103.09.25 | X @4 A k%o : 3.9 138 177 e
202 | 103.09.19 SEFE Fi - 12.8 39.7 52.5 % 3
201 | 103.09.03 v A ] ] 21 Y ey
200 | 103.08.18 % T - 13 37 c PP
199 | 103.08.08 s T _ - 63 53 prem
198 | 103.07.18 s T _ - 147 147 prem
197 | 103.06.25 %K KA 3 ] 79 - ey
196 | 103.05.26 HF ki - 231 65.1 88.2 # I
195 | 103.02.24 REFe A } 15 39 =4 prem
194 | 103.02.21 rys A ] ] 12 12 ey
193 | 103.01.22 s FA 3 ] 45 5 e
192 | 102.11.28 2opF FA ] ] 36 36 o
191 | 102.11.28 s A - i 6.7 6.7 R
190 | 102.11.14 s A - ] 23 23 pr
189 | 102.11.8 s A - 51 9 142 i




e - =2 i n*_ -131) ﬁi -134) ﬁéj '137, ﬁﬁ-1344+£$-/137 S oy
(Bsel=T) | (Bse/2T) | (B sa/aT) (B se/=7)

188 | 102.10.28 &k A A kA - 1.6 4.4 6 P
187 | 102.9.26 BE 33 - 1.4 4.4 5.7 =
186 | 102.9.26 ¥y 31 - 1.7 3.6 5.3 5 K
185 | 102.9.24 BE 733 - 2.9 5.8 8.7 A8 B
184 102.9.24 F K g3 - 1.1 2.2 3.3 #5 K
183 102.8.15 S K 3~ - 0.8 2.1 2.9 =¥
182 102.8.15 SETHER g3 - 0.5 1.7 2.2 =¥
181 | 102.7.26 s K V- - - 5.4 5.4 1
180 | 102.7.11 3 ¥ - 41 9 131 P
179 102.7.11 FE b g3 - 1.5 3.6 5.1 § v
178 | 102.7.10 R 3 3 - 23 49.9 72.9 F-
177 | 102.7.10 %K -3 - 12.5 315 44.1 F-
176 | 102.7.10 %K 31 - 33.6 74.2 107.8 F-
175 102.7.4 HE 3 - - 0.9 0.9 LK
174 102.7.2 HE 3 - 1.9 35 5.4 W
173 | 102.6.28 HE 3 - - 2 2 A W
172 | 102.6.19 A 3 - 16.7 33.8 50.5 # W
171 | 102.6.17 3 X - 6.3 15.3 21.6 #
170 | 102.6.14 ¥ FAE - 14.1 30.8 44.9 #




B | g B ey 6%-131/ ﬁi-134/ %-137/ 43 -13f1+£$ -‘137 oy
(Bsel=T) | (Bse/2T) | (B sa/aT) (B se/=7)
169 102.6.6 X3 - 2 5.4 7.4 M
168 102.5.15 3 - 3.7 10.6 14.3 L
167 102.5.8 3 - - 4.8 4.8 L
166 102.5.3 3 - 1 1.9 2.9 # M
165 102.5.2 3 3~ - - 2.5 2.5 W
164 102.4.29 3 - 2.1 3.1 5.2 =~ Ik
163 102.4.19 3 - 5 8.3 134 M
162 102.4.19 3 - - 5.7 5.7 W
161 102.4.19 3 - 5.6 10.9 16.5 W
160 102.4.16 3 - 1.2 2.5 3.6 W
159 102.4.15 3 - 7.5 15.3 22.8 L4
158 102.4.11 3 - 1.4 2.6 4 =W
157 102.4.10 3 - 2.1 3.9 6 L x
156 102.4.2 3 - 5.6 13.6 19.2 # M
155 102.3.19 3 - 5.4 9 14.4 M
154 102.3.8 3 - 8.5 17.4 25.9 LN
153 102.3.7 3 - 27.4 41.9 69.3 LN
152 102.3.7 3 - 3.8 8 11.8 i3
151 102.3.7 3 - 14.2 26 40.2 # W




s | wmen o S o310 ez R .
(B sl=am) [ (BselaT) | (Bs/aT) (B sc/=1)
150 | 102.34 ki Lk - 4.6 21 25.6 L7
149 | 102.2.27 HFe KA _ 53 93 146 o
148 | 102.2.27 poARE FHF - ] 05 05 oy
147 | 102.2.21 2opF i i i 6.8 6.8 §
146 | 102.2.6 sF K - 16 29.3 45.3 # b
145 | 102.2.4 HEFERF i - 22 3.9 6.1 o
144 | 102.1.25 wER A ] ] 55 55 I
143 | 102.1.23 #F i - i 215 215 =
142 | 102117 #F i - 16.1 28 141 o
141 | 102.1.4 FER i ] 08 6.6 05 5
140 | 101.12.27 F K KA - 14 54 38 e
139 | 101.12.27 &K i i 3.2 43 76 =
138 | 101.12.20 FER i ] 3.6 6.9 105 5
137 | 101.11.29 FER i ] 8.8 15 3.8 iﬁ
136 | 101.11.23 &K i i i 13 13 o
135 | 101.11.20 HEEP T i 0.6 13 19 5
134 | 101.11.15 B B - 17 2.6 43 ¥ b
133 | 101.11.15 HF T - 3.1 5.8 9 T
132 | 101.11.14 *F KA : 2.1 5.7 7.8 § i
131 | 101.11.14 #FEHBE E U - 7.3 1.4 8.7 § o




P o ;%-131) %-134) ﬁéj -137/ v -1344+¢a=-/137 25
(Bsel=T) | (Bse/2T) | (B sa/aT) (B se/=7)
130 | 101.11.7 BE X - 14 17.2 31.2 =
129 | 101.10.11 g3 & - - 2.9 5.7 8.6 B3
128 | 101.10.8 i R el 8% - 15.4 28 43.4 § o
127 | 101.10.4 A 3 - 75 10 17.5 =
126 | 101.10.4 e X - 4.4 7.6 12 =
125 | 101.10.4 Fa e r 33 - 4.3 8.8 13 =
124 | 101.10.3 S 3l - 12.4 21.3 33.7 i
123 | 101.10.3 HE 33 - 16.6 29.9 46.5 =
122 | 101.10.2 K 33 - 11.6 21 32.6 i
121 | 101101 | FF(He KikE ol 5 - 10.6 13.2 23.8 [}
&)

120 | 101.9.27 %K 31 - 24.9 45.6 70.5

119 | 101.9.20 a3 K 5 % - 2.1 3.8 6

118 | 101.9.13 C 2 3 - 3.2 5 8.3

117 101.9.6 3K 3 - 4.9 6 10.9

116 | 101.8.31 Yy r 33 - 6.7 10.3 17

115 | 101.8.28 HEEe 33 - 3.2 6.5 9.7




ae | e = oy ;%-131/ %-134/ ﬁéj -137‘ 4 -1344+¢a=-‘137 S
(Bsel=T) | (Bse/2T) | (B sa/aT) (B se/=7)
114 | 101.8.22 T b TR - - 3 4.7 7.7 Bk
113 | 101.8.14 GEEE F A - 10.7 18.9 29.6 L
112 | 101.8.10 BF Fi - 23.2 40.7 63.9 W
111 | 101.8.10 BF Fi - 14.3 25 39.3 W
110 | 101.8.10 BF Fi - 15.5 24.7 40.2 W
109 101.8.9 |#Ed4F R (e | 418 % - 5 8.1 13.1 A s
E#)
108 101.8.9 3 3 - 71 11 18.1 e
107 | 101.7.31 EN NS 31 - 3.9 6.3 10.2 45
106 | 101.7.31 ZomF F A - 28.7 435 72.2 i 7
105 | 101.7.26 ki 0 ] 23 38 6.1 P
104 | 101.7.26 PR FER X3 - 12.5 20.7 33.2 & s
103 | 101.7.25 HE r 3 - 3.4 5.3 8.7 §
102 | 101.7.25 |#4E(hée Eed | 41 8 5 - 10.8 15.2 26 A s g
4

10




B | g B ey ;%-131/ ﬁi-134/ %-137/ 43 -13f1+£$ -‘137 oy
(Bsel=T) | (Bse/2T) | (B sa/aT) (B se/=7)
101 101.7.24 X3 - 24.4 32.8 57.2 =~ x
100 101.7.24 X3 - 12.5 26.1 38.7 < R
99 101.7.13 X3 - 9.7 14.1 23.8 M
98 101.6.29 3 - 47.6 76.3 123.9 L4
97 101.6.20 3 - 11 17.9 28.9 L4
96 101.6.19 3 - - 0.2 0.2 14
95 101.6.15 3 - 28.6 45.8 74.4 = =
94 101.6.11 3 - 12.2 17.7 29.9 <
93 101.5.30 be g 185 - 10.1 16.9 27 s
92 101.5.29 3 - 18.5 43.6 62.1 M
91 101.5.18 3 - 49.3 79.2 128.5 # M
90 101.5.11 P& - 16.9 22.2 39.1 LA
89 101.5.11 3 - 47.6 81.8 129.5 W
88 101.5.3 3 - 34 53 87 # M
87 101.5.3 3 - 50 77 127 # b

11




s | mman =0 g n*_ -131) ﬁi -134) ﬁéi -137/ ﬁﬁ-1344+£$-‘137 . .
(Bsel=T) | (Bse/2T) | (B sa/aT) (B se/=7)
86 | 10153 FOHE F A - 17 27 44 # W
85 | 101.05.03 HFE r 3 - 83 11 193 &
84 | 101.04.27 BFERFE Fi - 42.2 60.9 103.1 # W
83 | 101.04.19 S K KA - 18.4 29 47.4 %R
82 | 101.04.19 %5k F Y33 - 8.8 11.1 19.9 4R
81 | 101.04.14 FERE KA - 31.9 44.5 76.4 #
80 | 101.04.11 %k E e g - 11.8 16.6 28.4 4 IR
79 | 101.04.06 PAZESR 33 - 71.9 109.6 181.5 o
78 | 101.04.06 B F y 33 - 12.7 19.8 32,5 L7
77 101.03.23 SR B F A - 6.3 9.4 15.7 Fr
76 | 101.03.16 BERE Fi ] 29 31 53 e
75 | 101.03.15 K FAE - 52.6 97.4 150 L7
74 | 101.03.14 % F 33 - 16.4 27.4 43.8 1
73 | 101.03.08 B F) KA : 42.4 54.7 97.1 #
72 | 101.02.29 HEe i _ 585 g5 1435 oy
71 | 101.02.23 | AE4 E 5 (0h e S| 41 B 5 - 2.9 - 2.9 A s
)

12




. #-131 4%-134 4% -137 44 -134+4%-137
By | ZEHp . . . , . , . .
(Bsel=T) | (Bse/2T) | (B sa/aT) (B se/=7)

70 101.02.23 X3 - 35.4 45.9 81.3

69 101.02.23 18 - 8.9 15.1 24

68 101.02.17 3~ - 2.7 5.6 8.3

67 101.02.06 | ¥ % Z B 185 - 8.8 11.7 20.5

ME D)

66 101.1.4 3~ - 49.9 69.4 119.3 W
65 100.12.28 185 - 4.6 5.7 10.3 A
64 100.12.17 3 - 132 189 321 M
63 100.12.14 3 - 3.3 4.1 7.4 =
62 100.11.30 AEE P kA & - 6.2 8.2 14.4 R
61 100.11.25 3 - 13.4 18.2 31.6 W
60 100.11.14 KA & - 2.5 4.8 7.3 R 3
59 100.11.11 KA & - - 2 2 CR>3
58 100.11.11 KA & - 2.7 4.1 6.7 R

13




R 5L

EHp

#.-131
(B 202 )

4-134
(B 202 )

4-137
(B 202 5)

4 -134+4% -137
(B 202 5)

57

100.11.11

=
-
A

26.8

38.1

64.9

56

100.11.10

Bk

wt

43.8

52.4

96.2

55

100.11.09

e | 79

-~

6.6

7.5

141

54

100.11.07

=
a>
[

32.6

40.2

72.8

53

100.11.07

334

46.7

80.1

52

100.11.01

e

e

5.7

7.2

12.8

o1

100.10.31

4.4

6.1

10.6

50

100.10.28

1.6

2.4

49

100.10.25

6.7

10.8

17.5

48

100.10.25

<l
[ |||

A A A A

19.6

28

47.6
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, #-131 4%-134 4% -137 4% -134+4%-137
Bk | Efp g 5t 2 A o o o e 2 =
(Bsel=T) | (Bse/2T) | (B sa/aT) (B se/=7)
47 100.10.25 &R I A KA & - 3.7 5.4 9 R
46 100.10.20 g + & -] - 20.7 24 447 o &
45 100.10.05 g + & -] - 145 16.2 30.7 14
44 100.10.04 A= SRk kA & - 58.1 64.4 122.5 L4
43 100.10.04 SRR AR kA & - 2.4 3.1 55 L4
41 100.09.20 ‘}:’at“ H 47 kA & - 6.1 7 13.1 R
40 100.09.16 A kA & - 1.7 8.3 16 & 4
39 100.09.13 v H A kZ& & - 5.8 5.9 11.7 T v
38 100.09.13 LEE AR kZ& & - 3.3 6 9.3 T 4E
37 100.09.09 Al kZ& & - 3.8 5.1 8.8 LR
36 100.09.09 A A kA & - 2.2 3 5.3 14
35 100.09.07 v H A kA & - 6.6 7.1 13.7 R
34 100.09.07 AN ] kA & - 9.6 12 21.6 14

15




, #-131 4%-134 4% -137 4% -134+4% -137
BE.| F4p 2 o A B . , . , . , . , V- %o
(Bsel=T) | (Bse/2T) | (B sa/aT) (B se/=7)
33 100.09.05 | =#E 4 RL(0t @ HEik el & % - 39.7 37.5 17.2 s
T 4)

32 100.09.02 AN kA & - 6.3 8.1 14.4 T4
31 100.08.26 v H A kA & - 1.4 6.5 13.9 i 3
30 100.08.26 % H 45 kA & - 8.2 11.7 19.9 i 3
29 100.08.26 LT R kA & - 5.9 1.7 13.6 E:4
28 100.08.26 AN kA& - 4.1 5.1 9.2 T4
27 100.08.23 Y A k& & - 3.2 4.1 7.3 E
26 100.08.23 A kA & - 4 3.8 7.8 s
25 100.8.16 e 3 g3 - 31.8 31.6 63.4 #
24 100.8.16 3 g3 - 57.4 70.2 127.6 # W
23 100.8.12 %R T, kA & - 71.3 84.8 156.1 i3
22 100.7.29 A SR} kA & - 6.2 8 14.2 i3
21 100.7.29 ) STARES § kA & - 3 35 6.5 E:

16




, w131 4-134 4$-137 | £-134+4-137
R #Ep L 2 T s s L A ¥ =3
(Bsel=T) | (Bse/2T) | (B sa/aT) (B se/=7)
20 | 100.7.21 Ak 4 - - 7.3 9 16.3 i3
19 | 100.7.21 | 3984 A kB | 41 & 5 - 34.9 33.3 68.2 i
PR )
18 | 100.7.20 $F Fi - 36.5 29.4 65.9 # b
17 | 100.7.20 BF Fi - 110.4 93 203.4 W
16 | 100.7.20 | ¥iFtr(ehe EpE | 4185 - 63.1 51 114.1 %
& 1)
15 | 100.7.15 i Fi - 37.6 40.5 78.1 W
14 | 100712 | BiEH(é EaE | 4ol 85 - 60.3 61.2 1215 i
LELD
13 | 100.7.12 | FiEH (e EmE | 4185 - 52.4 58.8 111.2 3

17




, @ -131 4%-134 4%-137 45 -134+45-137
RS | EHp &=t A ) T L L L A =4
(Bsel=T) | (Bse/2T) | (B sa/aT) (B se/=7)
12 100.6.30 | i =GE(h & MR el &5 - 53.2 55.1 108.3 i %
)
11 100.6.28 | A4 E R (he Ei | 418 % - 37.8 43.4 81.2 A g
%)

10 100.5.19 HEy FEN - 1.8 2 3.8 A
100.4.22 > o1 &5 9.6 50.7 55.3 106 ¥ 1
100.4.21 gk o 185 3.15 0.9 0.9 1.8 E
100.4.20 ) E bR 13 N 3.32 - 7 7 ¥ 31

6 100.4.14 & A %*I‘;p% 3 vl & % 1.74 0.6 0.8 1.5 LR

5 100.4.13 s vl & 5 3.42 5.4 6 11.4 L}

4 100.4.6 v HEH 5 B be1l & % - - 41.4 41.4 £

3 100.3.24 | (e Kikg | Bx2a 5 14.8 16.7 18.9 35.6 i3

18




. #.-131 4-134 4 -137 4% -134+4% -137 w
- (B a/aT) | (B alaa)| (Ba/ag) | (Bal>T) -
. 1 9 - - -
%e 11 - 1 1
fw B AT S SR AKERNS TR
., #.-131 4-134 4 -137 4% -134+4% -137
T (Ba/am) | (B alaq)| (Ba/ag) | (B al>T)
108.12.19 SRR - - 10. 7 10. 7
108.12. 20 | §#EF ¥ - - 2.5 2.5
108. 12. 11 23 Er g - - 80. 2 80. 2
108.12. 11 b3 E g - - 86. 4 86. 4
108.11.19 | # FF 8 FX % ¥ - - 26. 68 26. 68
108.10. 17 pids 3 F Bt - - 99. 2 99. 2

19




%fu

EHp

#.-131
(B 2/27)

4 -134
(B 2/27)

44 -137
(B 2/27)

4% -134+4% -137
(B 2/27)

71

108.10. 04

3.8

3.8

70

108.10.03

8.7

8.7

69

108. 09. 26

10.0

10.0

68

108. 08. 29

60. 47

60. 47

67

108. 8. 16

23.9

23.9

66

108. 8. 16

6.193

6.193

65

108.7.31

53.6

53.6

64

108.7. 30

54.01

54.01

63

108.7.24

98. 8

98. 8

62

108. 6. 28

83. 1

83. 1

61

108. 6. 26

6.1

6.1

20




%fu

EHp

#.-131
(B 2/27)

4 -134
(B 2/27)

44 -137
(B 2/27)

45 -134+4% -137
(B 2/27)

60

108. 6. 20

67.91

67.91

59

108. 5. 29

5.0

5.0

58

108. 5. 22

79.0

79.0

57

108.05.17

5.6

5.6

56

108. 5. 06

8.7

8.7

50

108.4.17

80. 7

80. 7

54

108.04. 15

23.06

23.06

53

108.4.11

13.43

13.43

52

108.4.10

10.4

10.4

51

108.4.10

9.3

9.3

50

108. 04. 09

2.9

2.9

21




B . @.-131 4%-134 4%-137 4% -134+4% -137
EiRp A e A RE | ) ; ) ; . . . ) A i
5 (Bse/am) [ (Bse/aT)] (B sel=mT) (B sc/=T)
49 | 108.3. 12 3 (§0%) gk - - - 71. 71 71.71 g s
48 | 108.3. 5 MR o N gk - - - 4.182 4.182 E R
47 | 108.1.17 L dx F B g el & 5 - - 98. 36 98. 36 e
46 | 108.1.16 | Ta# ¢ P i el & 5 - - 22.48 22.48 g v
(%)
45 108.1.9 BE x5 % 2T - =8 - - 18. 96 18.96 ]
44 | 107.12.6 THEER o1 G 5 - - 39.5 39.5 *F
43 | 107.12.3 | L& 3 X4 1G5 - - 55. 4 55. 4 i+ R
42 | 107.11.14 FHE Y el & 5 - - 56. 7 56. 7 A
41 | 107.11.13 Lidk F F g 13 R - - 17.79 17.79 ERR Y
40 | 107.10.23 A RTHNEE K % %8 54. 71 54. 71 ]

22




Bl #.-131 4-134 $-137 | 45-134+4-137
g | SREY e SEYC ey [ ara) | (paiag) | (ria) e -
39 | 107.10.08 ExERF s - - 4.785 4.785 %~ 1

38 | 107.10.08 ExEwF 1 b - - 26. 20 26. 20 L g

37 | 107.09.25 | $ 2 4E% k% 4 - - 3.05 3.05 e g4

36 | 107.09.11 | L#3 ¥5ir s 16. 2 16. 2 A1

35 | 107.09.11 | (RS EF 5 EE - - 5.5 5.5 R

34 | 107.09.11 XY PRy - - 10.5 10.5 R

33 | 107.07.30 | fHE¥ %% PR - - 8.29 8. 29 L

32 | 107.7.27 i 5 G - - 17.4 17.4 rysT

31 | 107.7.23 | srdet n% R FEN - - 69.5 69.5 T

0 [ 107709 | L0y | BT R - - 4.09 4.09 i+ A
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